
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för heltalsexponenter

9 + (−10) = 2 − 4 =

7 + (−8) = (−1) − (−4) =3

(−8) − (−6) =3 (−1) − (−8) =2

3 − (−7) =3 (−3) + 5 =

(−5) − 8 =3 (−9) + (−6) =3

1 − (−8) =2 (−9) + 2 =0

8 + (−4) =3 5 + 3 =3

8 − (−3) =3 (−10) − (−6) =3

2 − 10 =2 10 − (−7) =3

6 + (−2) =2 (−1) + (−3) =
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namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för heltalsexponenter

9 + (−10) = (−1) 2 − 4 = (−2)

7 + (−8) = (−1) (−1) − (−4) = 33

(−8) − (−6) = (−506)3 (−1) − (−8) = 92

3 − (−7) = 343 (−3) + 5 = 2

(−5) − 8 = (−133)3 (−9) + (−6) = (−735)3

1 − (−8) = 92 (−9) + 2 = 30

8 + (−4) = 5083 5 + 3 = 1283

8 − (−3) = 5153 (−10) − (−6) = (−994)3

2 − 10 = (−6)2 10 − (−7) = 10073

6 + (−2) = 342 (−1) + (−3) = (−4)
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